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APPERDIX-1

QUETIDNNAIRE
fiotez~-

The attached gquestionnaire intendes to study the application of
sanogeaent accounting technicuss by comasrcial banks while granting
/sanctioning the Ioans and also for monitoring the sanctioned loans,

Your proept and detailed response is earnestly solicited which

will be kept STRICTLY COHFIDENTIAL.

Q.1 Ghat was the amount of deposits of vour branch for the follou-
ing ysars?

o - " o " 7 S0 o 2ot s i1 Do o G S B P o o . S A i e i B S S . e i o A e ol i U Yoy s B ke ot N it B ot

}7Years | Short term Deposits | Time Deposits ¢ Tobaltl
¢ i (Jpto 1 year -RBs.) | {(Hore then i year-Rs.)! Rs. |
11888 | : : i
11888 i H :
it To H H H H
11891 ¢ H { H
g.2 What was the amount of advances of your branch for the follow-
ing years?
‘\Yoars | Priority sector | HNon-priority ssctor t Totall
: d Rs. H Rs. t Rs. |
i 1988 | H ! i
i 1885 | ! H i
v To ' : H :
i 1881 ¢ { i H
2.3 Please give the amount of profit sarned during following years.
‘Years | Profit earned before transfer to {
H i Goneral Researve {Rg.) H
¢ 1888 | |
{1885 | H
i To H H
I §:) : i
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A. BUSIRESS FLAN |

il
iil

iiid

iv]

vl

vil

viil

s the business plan given importance particularly in
case of absolutly new business? Yest

Is care taken to judge whether plans are developed
corractly or not? . Yesl

If Yes, please mention the factors taken into consider-
ation for judging the correctness of the plan? {Please put

1 Nol

1 Hol

Availability of Raw laterial [ 1 Spread of that Industry in

Accessibility of Raw Materiall ] all over India

Cost of production £ ] PDemand of that product
Units of that Industry in

that area t 1

Do you insist for quantified business plan? Yeosi

Period for which business plans are demanded for :-
Dus Year { 1 Two years ( ] Three Ysars [ 1
Hors than 3 years { 1

Is stress given to plans developed on currant
econogic situation? ; Yesi

Is the consideration given to future econoaic.
trends? e Yest

B. BREAK EVEN ANALYSIS :

1 Mol

1 Kol

1 Kol

24606

3

]

1

i

3

This analysis gives an idea regarding the level of production ( = Sales)

at
the

which the organisation will stop suffering any loss i.e B.E.
level at which there will be no profit and no loss.

B!EIP. = F/P"V

point

Bhere F = Fixed cost; P = Price per unit; V = VYariable cost per unit

il

PN
)
d

iiil

ivl

Whether the technigue is adopted for established

customers for ongoing organisation? Yes{
fhether adopted for established customer for newu
organisation proposad to be commenced? Yosi

fhether used for new customsr {who has coms for the
firgt time) to your bank but has established business? Yesi

Bhether used for new customer, proposing to inaugurate
a new organisation? Yesl

-

1 NoL

1 Nol

1 Not

1 Hofl

is
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v} Ghat are the factors linked with Break even analysais?
PLEASE PUT [ 1

a) % of total capacity at which B.E. point is reached Yost 1 Kot ]
b} HNo. of years that organisation will take to reach

break even level Yes( 1 Not ]

¢} Proportion of FC & V.C. Yest ] No( ]

I give herebelow few cases marginally conflicting cases of B.E. Analy-

sis. Based on the various assumptions, please give your decision about
which the borrower }oan to whom loan will be sanctioned.

Assumptionss

1. Your bank has very scarce respurces and you are supposed to sanction
advance to only one of the following proposed borrowsrs.

2. No other Factor/policy/applicable laus compel the bank to sanction
advance to any propossd borrowers.

3. These are the only two loan applications pending in the branch’s file.

4, Rate of interest recoverable from both thess proposed borrouers is
aqual.

5. Both the units belong to the same industry.

6. Both have regquested for term loan of equal amount.

CARSE : 1
PROPOSED  BORROWER
A B
Installed capacity 22,008 Units 20,888 Units
Fixed costs Rs. 2,008,008 Rg. 1,500,000
Variable cost Rsz. 284~ psr unitb Rs.28/~- par unit
Sales price Rs. 48/~ per wumit Rs, 4@/~ per unit
Fixed cost 2,080,000 1,583,800

BEP = ~mmemmemcmmaen s e

Salss - Variable 483 - 28 40 - 25

price cost

i

16,006 Units = 10,000 units
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It is also assumed that the sxpected sales of both the proposed
borrowsr are squal and it is as follows 3~

Yoar i 3 3 4 B

Units 7000 16,508 12,509 15,000 16,0206

{a) Under the circumstances to whom the loan will bs sanctioned?
To A L 1 B L 1 [Please put 1

{b) Please mention the factors based on which decision regarding
sanctioning of the loan will be taken.

CASE : 2

The data for proposed borrower A remains as they are but data for proposed
borrower B are given as follows :-

l
Installed capacity, Sales pricea and Sales pattern remain the same but the
data regarding wariable cost and fixed cost for proposed borrower B are as
follows :~

Variable cost Rs.24/- per unit .
Fixwd cost B5.1,58,4887/~ per unit
Break even point for proposed Borrowsr B will be :-

F 1,586,408
BEP = ~—=-- T e ee———— = 8,908 Units
F - ¥ 40 - 24
From this it follows that

»

(1) Borrower B attains BEP at an early stage compared to Borrowsr A.

{2) Borrower A has more per unit contribution which will contribute to
profit after BEP.
{For e.g in the 3rd year at the Sales of 18,508 units

inits Per Unit Contri~ F.C. Profit
contribution bhution

Borrower A is likely 19,500 * 20 = 2,108,980 - 2,900,000 = 18,008
to sarn profit of
Borrower B is likely 16,500 * 16 = 1,68,008 - 1,58,400 = 9,600
to earn profit of
{a) To whom loan will be sanctioned as per norams? [(Please put 1

To Borrower A 1

To Borrower B I 1
{b) To whom loan will be sanctioned as per subjective decision?

{Piease put 1

To Borrower A [ ]
To Borrower B i |
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CABE 3

In continuation to case 1 further suppose that all the data remains
sang except the changes in the installed capacity.

Situation 1 :

Borrowsr A has installed capacity of 28,800 (BEP at 50%)
and Borrowsr B has installed capacity of 18,0888 {(BEP at 55.55%)

To whom loan will be sanctioned - A [ 1 B 1 tPlease put 1
Situvation 2 :

Borrowar A has installed capacity of 20,608 (BEP at 58%)
and Borrouwer B has installed capacity of 22,808 (BEP at 45.45%)

To whom loan will be sanctioned -~ & [ 1 B 1 [Please put 1
Situation 3 :

Borrowsr A has installed capacity of 18,888 (BEP at 8§5,55%)
and Borrower B has installed capacity of 20,000 (BEP at 59.8d%)

To whom loan will be sanctiomed - A [ ] B 3 [Pleasz put ]
Situation 4 :

Borrower A has installed capacity of 22,8086 (BEP at 45,45%)
and Borrowsr B has installed capacity of 28,000 (BEP at 52.80%)

To whom loan will be sanctioned -~ A { 1 B } [(Please put 1

(vi) Is the margin of safety (Sales - BEP) taken into consideration
while sanctioning the loan?
Yes [ 1 Ho ( 1 f[Please put 1

CASE 4

Continuing with the data for case -~ 2 excepting the assumption that
Sales pattern of the proposed borrower is same, the sales pattern is given
as follows :-

Year

— -

1 2 3 4 5

Proposed Borrower A 7088 units 18,500 12,060 15,080 16,000
B 79288 units 18,798 12,508 15,600 16,580

Borrowsr A Borrowsr B

F 2,088,000 1,58,409
Break even point - ----~ = c—-moeeee 10,8806 0 —eememee 9,888 units



Hargin of Safety Yr. 1
(in terms of Units) 2
3

4
5

NIL
586 units
28068 units
5088 units
6002 units

NIL
860 units
2600 wunits
5788 units
6688 units

)

From above it follows that

{f) Ecrrowsr B achieves BEP at an early stags
{ii) Hargin of Safety in terms of Qty. is higher for Borrower B.

[EXPLANATION:
LIf Be find out margin of safety in terms of Rupees for Borrower A and
Borrower B the position will be as follows
Borrowsr A Borrwoer B
(Profit}) Rs, (Profit) Rs.
Hargin of Safety
Yr.2 580 % 26 16,088 Profit 368 % 16 12,600
3 200€ x 208 40,0080 Profit 2686 = 16 41,600
4 5982 = 26 1,088,886 Profit 5798 % 16 91,2864
5 608p * 20 1,268,800 Profit 6620 % 16 1,865,600

s s - - e b O . o YAD S e S e N e e Rl e A0 TP T P g A St S A W o S s e o e A A e e e S S e A . T S M i e S A o W W M S B e k. e e iy e S S

For ¥r. 2 % 3 profit of Borrower B is higher and then profit of Borrowsr B
is lower.1}

To whom loan will he sanctioned? Borrower A [ 1 Borrower B [ ]
(vii) Is margin of safety taken into consideration to decide the
REPAYMENT SCHEDULE? Yes L ] Ko 1 {Please put 1

{viii)ls the use of statistical test of probability made to get asore clear
idea about the level of sales and deviations in profitability level?
Yos L 1] Ho 3 [Please put ]

CGABE & =

Continuing with- the assumptions for Case 1 and vregarding constant
provailing situations looking to the realistic situation, it is possible
that the circumstances under which decision about the sanction of the loan
are boing taken may become gutdatsed.

To have
should
theory.

the caleculations and analysis more realistic the bankers
on the basis of past history and experience use the probability

0
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Continuing with the data in case 1. about installed capacity fixed
cost, variable cost and sales price and additional data are given regarding
mean gquantity and std. deviation of sales quantity as follouws :
flean quantity of sales = 12,808 units (For both borrower)

Std. deviation of sales quantity = 1100 units.

e e B W e . e o W A e e . Y S R R o e 40 VAR i S v e A L S o A AP S S S e R o e, e S A A O B o . R e i o Sl R A e s AU o s T i o

Borrouwer ¢ A Borrowsr : B
flgan Frofit (&7 = 12,008 = 28 = 2,480,000 2,986 % 15 = 1,060,000
{less fixed cost) 2,006,000 1,560,000
40,0068 36,000
Std. dsviation
of prefit = 1100 % 20 = 22,008 1188 = 15 = 16,528
X - % APB00 ~ @ 36080 - @
Probability = = = 1,81 2 e ——— = 1.81
of profit -4 22080 16500
being less
than zero
Value of 1.81 from table for Std.
normal variat is $.4649. As this is Same as A’
one side of a curve valus is
.5 - 6.46848 = $.6351 Same as ‘4’

Therefore Probability of profit being

greater than zero = 1 - 6.8351 = $.9648 Same as ‘A’

{As the probability of profit being less than zsro and greater than zero is
sape for both the borrower the analysis will not give any additional clue
for decision making regsrding sanction of the loan).

To whom loan will be sanctioned? Borrowsr A L 1 Borrower B { ]
CASE 6 @

Continue with the data given in Case - 2 and carry out the analysis
done in Case ~ B considering mean quantity of sales and std. dev. of sales
gquantity in case ~ 5. i

A g i T o B WA A e A o i S T ot S W W WP e . 90 O e A T B T M e T —— P

Borrouer : 4 Borrower : B
Hean profit 12080 % 20 = 2,423,889 12880 » 16 1,982,808
Fixed cost 2,000,000 1,58, 408

40,000 33,680
Std. dev. of 1180 % 16 = 17,660
profit = 1100 % 20 = 22,000 ’

Probabi- _ -
lity of -1 43,000 ¥E-X 33,660 - 2
Profit = = = 1.81 = -—— = 1,888 = 1,81
being g 22,0008 & 17,688
less

than *&°



Probability of profit being < & Yalus of Std. normal variats
5.9351 . of 1,91 = 9.4719

& probability of Profit > @ Hence probability of profit < @
= ,9648 = @.5 - 94718

. = §.8281
Honco probability of profit > @
=1 - §.028%

= $.9718

To whoa loan will be sanctionsd? Borrowsr A [ ] Borrower B [ 3

IZ. Is the use of sensitivity analysis made to decide the total effect on
profit by change in sither of the factor resulting into profit?
. Yos [ 1 No f ]
C4SE 7 :

Continuing with data and assumptions of case ~1 consider the following
situations and give your opinion regarding sanction of an advance.

Situation : 1 Fixed cost increase by 18%

Proposed Borrwoer & Proposed Borrower B
F.C. original Rs. 2,00,800 Rs.1,56,000
with 19% increase Rs. 2,20,000 Rs.1,65,080
2,200,000 1,65,000
BEP = ——meeee = 11,880 Units BEP = ~—w—w——— = 11,068 Units
4¢ - 20 (increase 18%) 48 - 25 {increase 106%)

Both the borrowers are squally sensitive to increase or decrease in
fixed cost and in the same proportion.

To whom ipan will be sanctioned?

Borrower A ] Borrower B [ 1 [Put 1
Situation s 2 Variable cost incrsase by 18%
Propused Borruoer A Proposed Borrower B
Original ¥.C, Ra. 20  per unit Rs. 25 per unit
Bith 18% increase Rs. 22 per unit Rs. 27.5 per unit
2,082,008 1,582,000
BEP = -——--—-- = 11,111 per unit = ———---—- = 12,000
A - 22 42 - 27.5
{increase 11,11%) {increase 20%)

Hers in both the cases increase in BEP is more than proportionate to
increase v.c. and rise in BEP Qty. is wore for Borrower B as compared to
Borrower A.

Under the above gituation/chances to whom loan/advance will be sanc-
tioned?
Borrowsr & ( ] Borrower B [ 1 [Put 1



(xi) Is this analysis used by bankers while taking lending decision to
findout the effect on profit of composition of loan portfolio,

LEXPLANATION :

-Here Fixed costs will be fixed overheads of the branch i.e. salary of
staff, Electricity, depreciation on assets of the branch ete.

Variable costs will be interest on deposits of branch, printing,
stationery, travelling, postage ske. Sales price will he the interest rate
on lending/advances or interest that branch can earn by transferring asount

to Head office]
i.e. impact of sach major advance is worked out.

Yos [ 1 Ko € 1 {Please put 1
C. IMPACT OF COSTING TECHRIGQUE =

Ghether costing technique followed or to bs followed by the proposed
borrower is taken into consideration while sanctioning the loan?

Ves { 1 o [ 1 {Please put ]
GCase B :
I. Continue with assunption 1 to 5 of Case - 1.
1. Further assume that amount of working capital lvan requested is same
for both the borrowers. It is observed in general that price of raw nate-~
rial and other consumables used by the borrowers have a tendency %o rise

gradually. The other particulars of the borrousrs are as follous:

Proposed Borrower As

fa) The method of valuation of issues from stores is FIFO method.
{b} The data regarding current assets and current liabilities of
borrower & ars as follows

. 1 T S o o T Bt e P S, A i B e i S S O S M . il e A A A .t i D A A Sl o D s S A 0 A S U g S S S S A T o S T S]] " ]~ -

Gurrent liabilities Current Assets
1,160,000 {nventory 76,000
Debtors 60,008
Cash 10,008
1,10.069 1,490,000

B . " o - -

Borking capital = 1,40006 - 1,108,000 = 30,000
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CA 1,406,000
Current Ratio : —- = - - = 1,27 : 1
CL 1,146,800
Proposed Borrowsr B ¢
Current liabilities - - Gurrent Asseis
1,160,980 Inventory " 85,000
Debtors 60,700
¢ash 18,008
1,168,000 1,35,000
(i) The method of valauvation of issuss is LIFD method.

Hence ¢ working captal = CA - CL
= 1,385,088 - 1,108,808 = 25,000

CA 1350842
Current Ratio : -— = em——— = 1.21 : 1
CL 110400

On the basis of above data to whom the loan will be sanctioned?

To : Borrower 4 3 Borrower B [ ] {Please put 3

CASE 9

€1) Continue with the assumptions of Case - from 1 to 5
Further assums that

{2) The two borrowers are in need of equal ampunt of #.C. loan.

{3) Both the borrowsrs have squal anount of current asssts and current
liability, with equal composition of Inventory, Debtors and Cash
for current asssis.

{4) Borrower A values all issues of material on FIF0O basze
and Borrower B values all iszsues of material on LIFO base

{8) There is a tendency of rising prices for the material being used by
the borrowers.

{6) Take data of CA & CL of Borrower A in case 8 for both the borrowsrs.
Under the circumstances to whom bthe Advance will be sanctioned.
To ¢ Borrower & [ 1 Borrower B ( 1 ({Please put 1

CASE : 10

13

Further to assumptions of case 1, assume that



1}  Both the borrowsrs purchass certain item of material from smarkei from
time to tims.

2) Both the borrowers are not holding opening stoek of raw material for
the period covered in the illustration.
3) Purchase and consumption data are same for both the borrowsrs.

4}  Borrower 'A’ valuss their consumption on ‘FIFQ’ Hethod, and Borrouer
*B' values their consumpticn on ‘LIFQ’ #Hethod.

Data are as follows :-

PURCHASE AND CONSUMPTION OF ITEM : A

19389 PURCHASE PRICE TOTAL CONSUMPTION BALANCE QTY.
Rs. PURCHASE
January 10 559 25 13750 ——— 558
February 5 o - e 300 258
March 5 658 27 17750 ———— a8
April 7 - - i 500 4008
fay 16 1006 38 30080 - 1400
July 2 ——— - - 700 709
Sept. i5 208 32 268890 —~—— 1609
Novembsr 18 - — - 408 1208
Deconber 26 —-—— - -— 392 808
31040 90309 2209
Valuation of Consumption :
Date of Jnits Borrowsr 4 FI1FO Borrower B LIFD
Consum-— fethod Bethod
ption fnits Rate Total ~ Units Rate Total
Feb. 5 380 300 25 7568 360 25 7500
April 7 5¢0 258 25 6250 506 27 13588
250 27 6758
July 2 760 ADG 27 10689 790 30 21066
380 39 9088
Nov. 12 490 430 30 12000 450 32 12800
Dec. 26 3p0 300 38 apag 308 32 9699
613088 64420

- .

— s o -

296



Valuation of closing stock

Borrower A

.
*

Borrower B

oo o, - o

RE. Units RS.
898 Units 8 32 = 2880683 250 # 25 = 5250
158 % 27 = 4AQDED
380 % 38 = 3600
280 » 32 = 6400
25700
PROFIT & LOSS ACCOUNTS
Borrouwer Borrower Borrouwer Borrower
!A! IB’ !A, QB’
RS. RS. RS. RS.
Purchases a2202 93200 Sales 118089 110000
ffg. Exp. 5008 4000 Hise. Income 16066 10000
Other Exp. 5608 4969 Closing Stock 28888 25709
Profit 48680 47560
1438689 145789 1488843 1457088
BALANCE SHEET {Figures in Ruppes)
Liabilities Barrower Borrowar Assels Borrower Borrowser
& Capital A i ¥ B’
Capital 3,000,800 3,000,800 Fixad Agssatis 3,088,086 3,808,000
PuL &e 48,688 47,580 Investaents 20,0868 20,000
Currant Currenkt Asseis
Liabilities
Creditor 15,0008 i8,099 Debtors 25,009 26,800
insscured losns Stock 28,800 25,700
& Advances 18,600 10,800 Cash 4,008 5,000
Outstanding Exp. 4,208 4,298
3,77,868 3,76,788 3,77,808 3,76,740
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From above, it follouws that

1) Stock of Borrower ‘A’ % Borrower ‘B’ in physical
however, in value terss it is less for Borrouwsr

!E?antitias AT SBRe,
-



2) Profit of Borrowsr ‘B’ is lower than that of Borrower ‘A’.

3) Net working capital of Borrower 'B’ is lower than that of Borrower "A’.

HBC = Current Assets - QGurrent Liabilities
Borrowsr A’ s 57,800 - 28,2080
N&C = 28,600

Borrwosr B + 58,788 - 23,208
HUC = 27,588

4) Current Ratio of Borrower *B’ is lowsr than that of Borrower 47,
Current Assets

Current Raktio = ———-eemrmmmvmme—cmn—
Current Liabilities

Borrower A 1 57,888/29,200 1.978 : 1

(]

Borrowsr B : 56,780/28,200 = 1.942 : 1
%) Quick Ratio of Borrower "B’ is higher than that of Borrowsr ‘A7

Quick Ratio = Current Asssts -~ Stock/Current liabilities’

Borrousr A 3 20608728260
= 2.983 : 1

Borrower B @ 31,0800/29208
= 1.061 : ¢

(A) Under the circumstances to whom loan will be sanctioned as per norus
To : Borrowsr AL 1 Borrower B L 1
{B) To whom loan will be sancticned as per subjective decision.

To : Borrower A L ] Borrower B [ 3

D. USE OF FUNDS FLOB STATERENT:

{i) Hhether the funds flow statement is demanded for future one

" year or more? {Please put ]
One Yearl 1 Tuo Years 3 Hore than two years [ 1
(iil Bhether comparision of actual figures with this projections is

is being dons or not?

Yes € ] Not 1 [Please put 1



(iii) For how many percentage of cases the funds flow statesents
subgitted by borrowers ars found to be correct? [Please put 3

Less than 58% [ JApprox, 5% [ 1 fore than 5@% [ 1

(iv) Fhether the funds flow statements are useful in desiding repayment
schedules?

Yes 3 Ro L 1 fFlmsase put ]
E. USE OF GASH BUDGET:
(i) For which period cash budget are being demandedT{Please put [ 1
#lonthly [ 1 Quarterly [ 3 Six monthly { 1 Yearly [ ]
(ii) Are this cash budget demanded at the time of sanctioning the advance?
Yes 3 o L ] {Please put ]
(iii)&rs this cash budgets uswed to docides repayment schedule?
Yes L 1 Rol ] [Flease put [ 1.
(iv) Are the actual cash positions compared with the original budgets
subaited by the borrowsr shile monitoring the loan porifolio of

the borrower?

Yoz [ 1 Bo 1 fPlease put 3

F. RATID ANALYSIS :

{i) WBhether informstion about various ratics is demanded at the time of:
Banctioning lsans Yes 3 Ko I ] [Please put 1
Periodically until loan is repaid Yes [ 1 HNo [ 1
Continuous when there is an account

of cash credit Yes [ ] Ho L 1

ii) Qhether information about various ratios is
deoranded from all the types of borrowsrs? Yos L 1 Ho O 1

Or from selscted borrower?

Yes 1 o [ 1 [Please put 1

1f Yeg 2~

For loan facility upto Rs.25,000 L
Betusen Rs.25,090@ to Rs.2,98,0080 L
L

Betueen Rs.2,00,0800 to Rs.10,%906,200
Hare than Rs.10,00,0808 L

Tund bond gy Feed
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NANE OF RATIO

o o e st

sAdvance @
sFor Loan :
tlip to 3

Advance
Between

: Advance
; Betueen

Rs.25,000 &4:Rs.2,00,060 &
:Rs.25,000:R=.2,00,000:Rs. 10,008,000

: Advance :
: Above H
tRs1,00,000:

Current Ratio

Cur.Assets/Cur.Liab.

st e

. e a8 4 S . v St 0 A e e e e B A

Absolute liquidity

Acind test Ratio

-y

C& - Inventory/Cur.Lib.:

Ratio

Gash & Investments/
Gurrent liabilitiss

.
v
4
”
v
.
*

4 YT ge

Inventory to

working Capital
Inventory/working osp.

.
L4
.
.
»
3

. W

Curraent Liabilities

to Het worth
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Debt to Equity
Longtere debt/Equity

LT IS

5 g

7., Fined Asssts (Net)/
Tangibls Net ¥Yorth

8.

Prep—_——.

p—

Pra )

FLE

Hetuorth
Liabilities/
Het Block

-

+ Longternm

o s o

Gross profit Ratio
Gross profit/Sales

ot e o

. . .
. . -
3 [3 -
» 1 14
v . -
* * H
. » »
- - *
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Net Profit Ratio
Het Profit/Salses
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11.

ROI

= EAT/ (et Block +:

forking Capitall:s

- ———— o st oo W 1 ot 7ot s S ot

12.

o —

Return on Coamon
Equity =P A T
Common equity

L
.
.
-
-
.

e, e
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tAdvance 3 Advance 1  Advance : Advance H

NARE OF RATIO s+For Loan : Betuween ¢+ Bstuysen : Above 3

sp to sRs, 25,008 J:iRs,2,90.00¢ %:Rs10,90,000:
tR5.25,000:Rs.2,09,0080:R5.10,00,008 : :

13. Return on Total H H : : 2
Assets=Net Profit/ 3 2 H H H
et Block + t $ : H :
CUT.Assets H H : H H

IV.TURKOVER RATIOS

. " o s o e o S OV S S il S o S T WA o o L A Sh S e T Pt Mk S ke A o L A Vi A P e S T Al ot S o e i e Y B . P St ot S R O T A P S e S e
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e

av B5 gy WE
4 *S

. PF ae B¢ 44 AW 4
uwa 5 g P¥ gu Y 4y
A% 8% g¢ F4 g WY »

14, inventory turnover : :
Ratio = Cost of Sales/: H
Avg. Inventory: :

i5. Receivables Turnover 2
Ratio = Sales/Debtors : :

16, Aversge Collection H H
Period = Accounts : :
Recsivable * 368 days/: :
Sales 2 3

17. &ssets Turnover H H
Ratip = Sales/Totzl H r
assebts 5

(Total assets = Net H H
Bilock + current % H
Assets + Loans & H :
idvancses) ¢ H

V.COYERAGE RATIOS:

-t 10 s S e 4 s . S e o St P W . B S o SO M A W s Sk e O S o o Bl AR G i i B Bt A, Yt ) N ot et S e N s Y Yt B S B W e S e o W o B el b W S S S0

18.

Time Int sarned H
Ret income =2fier H
Taxes/ Intersst H

e o . s R P e N Bt B 2 e e T R S A S e A T A s B Y S G0 . M ot S ey g R o A Ao e S St o A S o o i o T e et e R e N S Y S S B S W

i9.

e i o

. — . o T 0 ot o 1 o S . 0t o

The fixed coverage = 3
Gross cash flow +Term ¢
Loan Interest / Total :
debt service H

. gn B 4
LATIEE T TR L T
" gy #* an

LT L 1Y

3.8. Once the loans ars sanctioned,
get the repayment of loans intinme.

for

A
B)
¢
D)

this purposs? {Ploass put

Cash Budget
Funds Flow Statemsnt
Ratio &nalysis

Any other pleass specify

eod  fonsd bd

the next is wonitoring and follow-up to
Yhich of the following tools are used
if ussdl

261
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